
   

 

 

 

 

 

 

gFjp I ,y; vy;yh tpdhf;fSf;Fk; tpil jUf. 

gFjp I 

01. Gtp jdJ mr;rpy; jd;idj;jhNd Rw;Wtjw;F vLf;Fk; fhyk; ahJ? 

1) 365 ehl;fs;      2) 24 kzpj;jpahyq;fs;  

3) 30 ehl;fs;      4) 1 kzpj;jpahyk; 

02. Gtpapd; tbtk; ahJ? 

1) jl;ilahd tbtk;     2) nrt;tf tbtk; 

3) Nfhs tbtk;      4) rJu tbtk; 

03. Gtp Nkw;gug;gpd; gug;gsT ahJ? 

1) 510 rJu fpNyhkPw;wu;     2) 5100 rJu fpNyhkPw;wu; 

2) 510 kpy;ypad; rJu fpNyhkPw;wu;   4) 501 kpy;ypad; rJu fpNyhkPw;wu; 

04. kdpjdhy; cUthf;fg;gl;l fw;gidf; NfhLfs; 

1) mfyf;NfhLfs;> neLq;NfhLfs;   2) ru;tNjr Njjpf; NfhL 

3) kj;jpa NfhL      4) ahTk; rup 

05. cyfpd; fz;lq;fs; vj;jid 

1) 5   2) 7    3) 4    4) 6 

06. fz;lq;fspy; kpfg;ngupa fz;lk; vJ? 

1) Mgpupf;fh      2) INuhg;gh    

3) Mrpah       4) mT]jpNuypah 

07. fz;lq;fSf;F ,ilapy; mike;Js;s gue;j ePu;g;gFjpfs; vt;thW miof;fg;gLk;? 

1) fly;fs;  2) rKj;jpq;fs;  3) MWfs;   4) Fsq;fs; 

08. ru;tNjr Njjpf;Nfhl;bd; Mq;fpyg; gjk; Fwpg;gJ. 

1) Arctic Circle      2) International Date Line 

3) Equator      4) Tropic of Cancer 

09. ,yq;ifiaAk; ,e;jpahitAk; gpupf;Fk; ePupid 

1) ,e;J rKj;jpuk;     2) rPdf; fly; 

3) ghf;F ePupid      4) gRgpf; rKj;jpuk; 

10. ru;tNjr rKj;jpu rl;lj;jpw;fika vj;jid fly; iky; vy;iy tiu MSif cupik 

toq;fg;gl;Ls;sJ? 

1) 10 fly; iky;     2) 15 fly; iky;  

3) 12 fly; iky;     4) 16 fly; iky; 
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gFjp “m” tpw;F nghUj;jkhd gFjp “M” it ,izf;Ff. 

m M 

11. Nfhsj;jpd; kj;jpapy; fpilahf 

mike;Js;s NfhL 

A. neLq;NfhLfs; 

12. tlf;fpypUe;J njw;fhf Fj;jhf 

ePz;L nry;Yk; NfhL 

B. gRgpf; rKj;jpuk; 

13. Gtp Nkw;gug;G 

 

C. 00 mfyf;NfhL 

14. rKj;jpuq;fspy; ngupaJ 

 

D. fly;fs; 

15. fz;lq;fSf;F mUfpYs;s rpwpa 

ePu;g;gFjp 

E. 71% ePupdhYk; 29% 

epyj;jpdhYk; %lg;gl;Ls;sJ. 

 

rup gpio ,Lf 

16. ,yq;if flff; Nfhl;bw;Fk; kfuf; Nfhl;bw;Fk; ,ilNa mad tyaj;jpy; mike;Js;sJ (   ) 

17. me;jkhd; jPT ,e;J rKj;jpuj;jpy; mike;Js;sJ.          (   ) 

18. ,yq;if midj;J ,d kf;fSf;Fk; nrhe;jkhd xU jPthFk;        (   ) 

19. kpfg;gioa fhyj;jpypUe;Nj ,yq;if kf;fs; tpUe;jpdu;fis cgrupg;gjpy; Gfo; ngw;wpUe;jdu;. 

                                                                    (   ) 

20. ,yq;if G+l;lhDf;F mUfpy; mike;Js;sJ.          (    )   

(20×1=20 Gs;spfs;) 

gFjp II 

Kjyhk; tpdhTf;Fk; Vida tpUk;gpa ehd;F tpdhf;fSf;Fkhf Ie;J tpdhf;fSf;F tpil 

jUf. 

01. cyfg;glj;ij mbg;gilahff; nfhz;L 1 -10 tiuahd tpdhf;fSf;F tpil jUf 

 

         

 

 

 

 

 

 

 

 



 

1. A Fwpj;J epw;Fk; fly; vJ? 

2. C Fwpj;J epw;Fk; fly; vJ? 

3. B Fwpj;J epw;Fk; fly; vJ? 

4. klf];fhupid Fwpf;Fk; vOj;J vJ? 

5. gpNw]py; ehl;ilf; Fwpf;Fk; vOj;J vJ? 

6. cyfpd; kpfr;rpwpa fz;lj;ijf;Fwpf;Fk; vOj;J vJ? 

7. cyfpd; kpfg;ngupa jPitf; Fwpf;Fk; vOj;J vJ? 

8. I vDk; vOj;J Fwpf;Fk; ehL vJ? 

9. ghf;F ePupiziaf; fhl;Lk; vOj;J vJ? 

10. Nghu;zpNah jPitf; Fwpf;Fk; vOj;J vJ? 

(10×2=20 Gs;spfs;) 

02. 1) Gtpr;Rw;Wif vd;why; vd;d? 

2) Gtp xU KOikahd Nfhs; my;y vd;gjw;fhd Mjhuq;fs; vit? 

3) kdpjdhy; cUthf;fg;gl;l fw;gidf;NfhLfis Gtpf;Nfhsj;jpy; tiue;J fhl;Lf. 

4) fpwPd;tpr; neLq;NfhL vd;why; vd;d? 

5) tl miuf;NfhsKk; njd; miuf;NfhsKk; KiwNa vg;gFjpapy; mike;Js;sJ? 

(5×3=15 Gs;spfs;) 

03. 1) jPT vd;why; vd;d? ,yq;if Vd; jPT vd miof;fg;gLfpd;wJ? 

2) cyfpd; fz;lq;fs; vj;jid? mtw;iwf; Fwpg;gpLf. 

3) rKj;jpuq;fs; vd;why; vd;d? 

4) cyfpd; gpujhd rKj;jpuq;fs; 5 ,idAk; Fwpg;gpLf. 

5) Mrpahf; fz;lj;jpDs; mike;Js;s fly;fs; vit? 

(5×3=15 Gs;spfs;) 

04. 1) ,yq;ifiaAk; ,e;jpahitAk; gpupf;Fk; ePupiz vJ? 

2) ,e;j rKj;jpuj;jpYs;s jPTfs; vj;jid? 

3) ,yq;if ,e;jpahTf;F mz;ikapy; mike;jpUg;gjdhy; ngw;Ws;s ed;ikfs; %d;wpidf; 

Fwpg;gpLf. 

4) gUj;jpj;JiwapypUe;J NjNte;jpuKid tiu ,yq;ifapd; ePsk; ahJ? 

5) ru;tNjr rKj;jpur; rl;lk; vg;NghjpypUe;J  eilKiwapYs;sJ? 

(5×3=15 Gs;spfs;) 

05. 1) ,yq;ifapd; %d;W gpujhd jiuj;Njhw;w tyaq;fSk; vit? 

2) kj;jpa kiyehl;by; fhzg;gLk; jiuj;Njhw;w mk;rq;fs; vit? 

3) fiuNahur; rkntspfs; vit? 

4) ,yq;if kiotPo;r;rpia ngw;Wf;nfhs;Sk; 3 Kf;fpa KiwfSk; vit? 

5) Nkw;fhTif kio fpilf;fpd;w fhyq;fs; vit? 

(5×3=15 Gs;spfs;) 

06. 1) ,yq;ifapy; thOk; gy;ypd kf;fSk; ahtu;? 

2) ,yq;ifapy; gy;ypd kf;fSk; topgLfpd;w topghl;Lj;jsq;fs; vit? 

3) ,yq;ifapy; ,aw;ifahfNt cUthd Njrpa kuGupikfs; 4 jUf. 

4) ,yq;ifapy; kdpj elj;ijfspdhy; ntspg;gLj;jg;gLk; kuGupikfs; vit? 



5) ,yq;ifapy; Mjpthrpfs; trpf;fpd;w gpuNjrq;fs; vit? 

(5×3=15 Gs;spfs;) 

07. 1) ,yq;if kf;fspdhy; nfhz;lhlg;gLk; gy;NtW tpohf;fSk; vit? 

2) njd; Mrpa gpuNjr ehLfs; 3 jUf. 

3) ,yq;ifapd; vOj;jwpT tPjk; ahJ? vOj;jwpT tPjk; $ba ehL vJ? 

4) ,yq;if r%f mgptpUj;jpapy; cau;kl;lj;ijg; ngw;Ws;sJ. ,jpy; nry;thf;Fr; nrYj;Jk; 

fhuzpfs; 4 jUf. 

5) ,yq;if kf;fs; ngw;Wf;nfhs;Sk; ,ytr Nrit trjpfs; vit? 

s(5×3=15 Gs;spfs;) 

 

 

 

 

 

 

 

 

 


